13 GA. C(MIN> GALV.
COMMERCIAL TOP ROLLER
BRACKET ATTACHED W/(3)

1/4* X 3/4" HEX HEAD SCREWS

2/-10 BALL STEEL 5"
STEM ROLLERS <MIN> W/
7/16* RETAINER FOR
NON-THREADED SHAFTS

TYPICAL TOP FIXTURES

20 GA. STRUT ATTACHED

I W/(@ 174" x 3/4*
=@ — HEX HEAD SCREWS

N.T.S.

14 GA 125" X 125" X 1
PUNCHED ANGLE ATTACHED TO
ADJUSTABLE SLIDE ON TOP
FIXTURE WITH <1 5/16" X
374" BOLT AND NUT

ADJUSTABLE SLIDE BRACKET
ATTACHED W/ (@ 5/16” X 3/4"
CARRIAGE BOLTS AND NUTS

()

A

g’

N.T.S.

20 GA. GALV. STEEL END STILE
ATTACHED TO DOORS SKIN WITH
(@) #8 X 1/2° SCREWS PER STILE

1> 1/74-20 x 5/8* TRACK
SPLICE BOLT AND NUT PER
JAMB BRACKET

2" GALV. STEEL TRACK
THICKNESS .063"(MIN.)

TRBB-375 BOTTOM BRACKET@

13 GA. BOTTOM BRACKET BASE
ATTACHED W/(2> 1/4* X
HEX HEAD SCREWS

INSIDE ELEVATION

374"

oe
oe

27-10 BALL STEEL 5" /(\
STEM ROLLERS <MIN> W/ \

NON-THREADED SHAFTS

20 GA. STRUT ATTACHED U —
W/@) 174 x 3/4"—= :
HEX HEAD SCREWS

TYPICAL CENTER HINGE

14GA, (MIND CENTER
HINGE ATTACHED
W/ (4) 174" x 3/4*
HEX HEAD SCREWS

3-3/4" X 8 20 GA BACKER
PLATE BEHIND BACK SKIN AT
TOP AND BOTTOM OF EACH
SECTION AT HINGE LOCATIONS

TYPICAL TOP

SECTIDN\\\\i:

WITH (3> 1/47

N.T.S.

(1> 14 GA. (MIND
END HINGE ROLLER .
CARRIER ATTACHED

g ®
W/ (4) 1/4" x 3/4° ene
HEX HEAD SCREWS 3

v

i

7/16" RETAINER FOR

v
TYPICAL END HINGE 3
N.T.S.

13 GA. BOTTOM BRACKET
ASSEMBLY ATTACHED
W/(4> 174" X 3/4*

HEX HEAD SCREWS

(2 ON BASE AND

2 ON ROLLER FLANGE>

2’ 10 BALL STEEL
S(MIN) STEM ROLLER
W/ 7/16” RETAINER FOR
NON-THREADED SHAFTS

N.T.S.

TRBB-375 BOTTOM BRACKET@

JAMB SEAL 2 X 6 SYP OR SPF
OPTIONAL (NO. 2 OR BETTER) > 5/16* x 1 5/8°
LAG SCREW PER
-| JAMB BRACKET
A\ / L
\‘ \ 7 ’/

/

2-10 BALL STEEL
5 STEM ROLLERS <MIN>

INTERMEDIATE _/

HINGES 14GA (MIN.)

TRACK MOUNTING DETAIL

N.T.S.

3-3/4* X 8’ 20 GA BACKER TYPICAL
PLATE BEHIND BACK SKIN AT INTERMEDIATE
TOP AND BOTTOM OF EACH

SECTION AT HINGE LOCATIONS

20 GA. STRUT ATTACHED
w/@) 1/4* x 3/4"
HEX HEAD SCREWS

@
EXTERIOR SKIN
27 GA MIN ~—fi

SECTION ~_

3-3/47

3-3/4"
TONGUE & GROOVE

SECTION JOINT AT ENDSTILE

TYPICAL BOTTOM
SECTION ~~_

POLYURETHANE
INSULATION CORE

& BOTTOM BRACKET
S 13 GA. (MIND

SECTION A—A (SIDE VIEW)

THE METHOD OF TESTING WAS IN SUBSTANTIAL CONFORMANCE
WITH THE PROCEDURE DESCRIBED IN DASMA 115-05, ASTM
E1886—05, E1996—09, AND F588—-04. THE PRESSURES SHOWN
ON THE DRAWINGS WERE CALCULATED USING ASCE
7—98/02/05 WITH THE FOLLOWING PARAMETERS (5 FEET OF
DOOR WIDTH IN THE END ZONE, ROOF AT ANY SLOPE |=1.0):

WIND SPEED (MPH) 155 141 134 128 123
EXPOSURE LEVEL B C C D D
MEAN ROOF HEIGHT 30’ 15’ 25’ 15’ 25’

STARTING WITH 3~
ALL STRUTS ATTACHED W/ (2) 1/4”
HEX HEAD SCREWS AT EACH STILE

x 3/47

INTERIOR SKIN 27 GA

LARGE

M1
M

SSILE
PACT

RESISTANCE

13 GA. (MIN) GALV. COMMERCIAL
TOP ROLLER BRACKET ATTACHED

HEX HEAD

UNIV. SCREWS PER BRACKET

ADJUSTABLE SLIDE BRACKET IS
ASSEMBLED WITH (2> 5/16*
BOLT & NUT PER BRACKET

x 3/4

X 20 GA BACKER PLATE
BEHIND BACK SKIN (HORIZONTALLY)
AT TOP AND BOTTOM OF EACH
SECTION AT HINGE LOCATIONS AND
X 20 GA BACKER PLATE
BEHIND BACK SKIN (HORIZONTALLY)

"

(1> 20GA STRUT PER SECTION ALTERNATING BETWEEN 37
STRUT ON THE BOTTOM SECTION.

x 3/4°

& 27

REV

DESCRIPTION OF REM

SIONS

DATE  |BY

9’

MAX SIZE

DESIGN LOADS]
+38.0 PSF
—44.9 PSF
TEST LOADS

+57.0 PSF
—67.4 PSF

LARGE MISSILE]
IMPACT
RESISTANCE

x 14

Awmary

165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 WWW.AMARR.COM

MODEL P500, D500 (2”)

FIMBEL FLUSH, OLYMPUS, AND DESIGNERS CHOICE PANELS

SZE| DRAWBY  RIR| DATE 03/16/12 DRAWING NUMBER
B | cHecken By DATE IRC-P509-135-15-1
ENGINEER:  THOMAS L. SHELWERDINE PE. LIC. No. 0048579| SHEET 1 OF 3



Tom
TX

Tom
TLS

Tom
Reviewed


INTERIOR OF GARAGE

—= MAX. WIDTH 9’0" ——

pEsiN Loaps | | [ F I P T I T 1]

+171.0 LBS/FT
-202.1 LBS/FT ~ SEE NOTE 2

SPECIFICATIONS AND NOTES

1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE VERTICAL TRACK,
FROM THE TRACK THE LOAD IS TRANSFERRED TO THE VERTICAL JAMBS.

THE HORIZONTAL JAMB OR HEADER RECEIVES NO PORTION OF THE LOAD
TRANSFERRED FROM THE DOOR.

2. EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF:

+171.0 LBS/FT & —202.1 LBS/FT.

3. DOOR AND HARDWARE WILL BE DESIGNED, MANUFACTURED

AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA.

4. DOOR SECTIONS SHALL BE 27GA MIN. INTERIOR AND 27GA MIN. EXTERIOR SKIN
ROLLED FORMED, W/ BAKED ON POLYESTER FINISH.

5. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED BY A REGISTERED
PROFESSIONAL ENGINEER FOR WIND LOADS INDICATED ON THIS DRAWING IN
ADDITION TO OTHER LOADINGS.

6. PANEL STAMP DOES NOT AFFECT WINDLOAD CAPABILITIES.

TOP FIXTURE REINFORCEMENT
ILLUSTRATION

O + @
9* 12 GA (MIN.) VERTICAL ANGLE ATTACHED \/
TO wOOD JAMB W/ (3> 5/16 DIA. X 1-5/8 LAG
BOLTS AND T0 TRACK M/ (4 17420 x S/8° WOOD JAMB ATTACHMENT TO STRUCTURE I VIEW ISIMETRIC VIEW
) 2 X 6 VERTICAL JAMB ATTACHMENT TO WOOD FRAME STRUCTURE 11+ O
[l ccocooes 5/16” X 3" LAG SCREWS STARTING 6” FROM ENDS THEN 24" 0.C. (1 1/2” EMBEDMENT) 4
]
g 2 X 6 VERTICAL JAMB ATTACHMENT TO 2,000 PS| CONCRETE 11 i
o HILTI KWIK BOLT 3/8” X 4” STARTING 6” FROM ENDS THEN 24” 0.C. (2 1/2” EMBEDMENT) 17
HILTI SLEEVE ANCHOR 3/8” X 2-3/4” STARTING 6” FROM ENDS THEN 24" 0.C. (1 1/4" EMBEDMENT) END VIEW SIDE_ VIEW
I ITW/RAMSET REDHEAD (TRU-BOLT) 3/8” X 4" STARTING 6” FROM ENDS THEN 24" 0.C. (2 1/2" EMBEDMENT)
B SPLICE TRACKS AT THIS LOCATION
VI a0 TRACK SPLICE BOLTS & NUTS 2 X _6 VERTICAL JAMB ATTACHMENT TO HOLLOW C—90 BLOCK )
SECURE TO JAMB WITH (3 5/16* DIA. SIMPSON 1/4” X 3” TITEN SCREWS STARTING 6" FROM ENDS, USE PAIRS OF FASTENERS (3" APART) REV | DESCRIPTION OF REMISIONS DATE  |BY
x 1-5/8 LAG BOLTS AT 16” 0.C. (1 1/2” EMBEDMENT)
HILTI 1/4” X 2-3/4" KWIK—CON Il+ SCREWS STARTING 6” FROM ENDS, USE PAIRS OF FASTENERS (3” APART)
AT 16" O0.C. (1 1/4” EMBEDMENT) MAX SIZE
9 x 14
[l > S/ DA x 1-5/6 2 X 6 VERTICAL JAMB ATTACHMENT TO GROUTED C—90 BLOCK (2000 PSI GROUT DESIG’; LOADS
o . X 1- o » » » ” »
O e D 8 A HILTI SLEEVE ANCHOR 3/8” X 2-3/4" STARTING 6” FROM ENDS THEN 24" 0.C. (1 1/4” EMBEDMENT) 380 por
AT EA, JAMB BRACKET (OR, USE FASTENERS FOR HOLLOW C—90 BLOCK) Ti49 Por
12 GA. GALV. STEEL *AGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE. TEST LOADS
JAMB BRACKETS *
Ej_/ JAMB BRACKETS e o0 x 5/6" PREPARATION OF WOOD JAMBS BY OTHERS tg;-i E§E
!— TRACK SPLICE BOLT & NUT \ \ \ \ .
WOOD CONCRETE HOLLOW BLOCK GROUTED BLOCK
oACK ATTACHMENT CAN B BRAGKET . STRUCTURE STRUCTURE STRUCTURE STRUCTURE
MOUNT, CONTINUOUS, REVERSE ANGLE é M M M LAR&EPA/I(I:?_SILE
| | MOUNT OR TAPERED REVERSE ANGLE a
il MOUNT. (SEE AVAILABLE TRACK g RESISTANCE
CONFIGURATIONS) ] I \ I \ \ B \
ALL TRACK BRACKETS AND TRACK N
VITH &> RIVETS OR (b 17480 T T T T
BOLT & NUT ?@
TR i b ‘
INDICATED IN TABLE 2 oX6 JAMB 165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 WWW.AMARR.COM
TYP. 3" MIN MODEL P500, D500 (2”)
FIMBEL FLUSH, OLYMPUS, AND DESIGNERS CHOICE PANELS
TRACK CONFIGURATION FOR UP TO 14’ TALL DOORS
SIZE| DRAWNBY  RIR| DATE 03/16/12 DRAWING NUMBER
B | cHecken BY DATE IRC-P509-155-15-1
ENGINEER:  THOMAS L. SHELMERDINE P.E. LIC. No. 0048579( SHEET 2 OF 3



Tom
TX

Tom
TLS

Tom
Reviewed


TABLE 1 TABLE 3

DOOR SECTION HEIGHTS . Center Stile Location
Section

HEIGHT |Btm| #2 | #3 | #4 | #5 | #6 | #7 | #8 (Measured from Left Edge)

6'0" |18"| 18" [ 18" [ 18" i

66 | 21| 18" | 18" | 21" V\l(:tj)th 1st (in) 2nd (in)

r0° j2rjeltjalt)alt) 6]0 24.406 47.504

re | 18]18") 18" | 18" | 18 70 29.200 54.800

g0° |21']18") 18" | 18" | 21" 712 30.200 55.800

g6 jol'j2l 21" 18 | 21" ] 714 | 31.200 56.800

9'0 18" [ 18" [ 18" [ 18" | 18" [ 18 15 5500 =800

96" |21"[18"[18"|18"| 18" [ 21" : : :

100" | 21"[ 21" 21" [ 18" [ 18" | 21" 7. 8 32.200 60.000

106 |20 20 [ 2v [ 2 [ 21 | 21 710 33.000 61.000

110" | 21" | 18" | 18" | 18" | 18" | 18" | 21" 80 48.000

11'6" | 21"[ 21" 21" [ 18" [ 18" [ 18" [ 21" 8|2 49.000

120" [21"[21"| 21" 21" [ 21" [ 18" [ 21" 84 50.000

126" [ 21| 18" | 18"| 18"| 18" | 18" [ 18" | 21" 8'[6 51.000

130" |21"[21"[21"[ 18" [ 18" [ 18" [ 18" | 21" 88 52.000

13'6" | 21"[ 21" | 21" [ 21" [ 21" | 18" [ 18" | 21" 810 53.000

140" 21" 21" 21" [ 21" [ 21" [ 21" [ 21" | 21" 90 54.000

7/
.
TABLE 2 g
TRACK ATTACHMENT %
HEIGHT— 5 C 5 = = SPLICE Z
60" | 10" | 38" 64" é
66" | 10" | 38" | 63" 70" é '
7 0" 10" 38" 63" 76" % REV | DESCRIPTION OF REVISIONS DATE BY
776" | 10" | 38" | 63" 82" Z |
80" | 10" | 38" [ 63" 88" é | S Sz
86" | 10" | 38" | 63" 94" é 9y 14
9'0" 10" 38" 63" 88" 100" % DESIGN LOADS
96" | 10" | 38" | 63" | 88" 106" ZIki +38.0 PSF
: —44.9 PSF
100" | 10" | 38" | 63" | 88" 112" St Loans
10'6" | 10" | 38" | 63" | 88" 118" 157.0 PSF
11'0" | 10" | 38" | 63" | 88" | 112" 124" ~67.4 PSF
11'6" | 10" | 38" | 63" | 88" | 112" 130" -
120" | 10" | 38" | 63" | 88" | 112" 136" g | i 3
12'6" | 10" | 38" | 63" | 88" | 112" 142" o [2[p £ |k g 3 LARDE MISSILE
13'0" | 10" | 38" | 63" | 88" | 112" | 136" | 148" 2 & é"ﬂ z 3 RESISTANCE
13'6" | 10" | 38" | 63" | 88" | 112" | 136" | 154"
140" | 10" | 38" | 63" | 88" | 112" [ 136" | 160"
ALL TRACK ATTACHMENT SPACING +/— 1" ALLOWED WITH SYP OR SPF NO. 2 OR BETTER ONLY j J] J J ?4@.
AVAILABLE TRACK CONFIGURATIONS 165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105 WWW.AMARR.COM
e MODEL P500, D500 (2')
FIMBEL FLUSH, OLYMPUS, AND DESIGNERS CHOICE FPANELS
SIZE| DRAWN BY RIR| DATE 03/16/12 DRAWING NUMBER
B | cHeckep BY DATE IRC-P509-155—15-
ENGINEER:  THOMAS L. SHELMERDINE P.E. LIC. No. 0048579| SHEET 3 OF 3



Tom
TX

Tom
TLS

Tom
Reviewed


	IRC-P509-155-15-I drawing 7-05 TX
	p2
	p3

